£8AT Sy OYUSF-NyT R EFSTOR=TU-12DFH Yy N—KE F=THRFE L —F XY ~108~20%;

(1~2@0%] 12868 (B) *x = JOvOR
¢S/ ImT v N—15
*ATJOvD
| vaspFc |
-
AR
| EHFC B pPE—
2 AD
HEEEE
3
No.[ BfE] AT —hxtE =4 Eil
®| 900 2 3 1 1
' MRFFC-B 2)IFEFSS | PaAT7FC| PaqFFC
_ i ADBE | ADBRE | AOKE
@[ 10:30 Saqpec

*B7J0OwvD
| Fog)ll P
4 B@
gEE LYYy |—
5 B@—'
EEEEE
° B®
| =igzss  ——
-
No| B%fE Ba—hxt8g =¥ ]
@d] 9:00 4 vs 6 !
FC2I| sEmILYY7| 2EEss | 2mEss
@ 945 6 . 4 5
2)IIEESS 2)I11ESS Fegl  |eEmILyyy
3| 1100 BOBZE BOME BOK#E | BOKE




